&5 89/HMF ololx|

s i

i

. I

product
design
award

© HEINRICH KIPP WERK GmbH & Co. KG

EMolRa|

& Ergl I AT M ALgL %42

O% 85 oSt MM = wh7hAY
HH.

HH|7} EHe 9l =2 E2o| Z0IE B4l
QEAL} B2 mf XI&™Mo|m U™ & A,
E| Mg MEfo| OtHMR2 U-Z 2 HFEYH
ST Ao 2 FHE.

AL

7|E} BHE Ay

UMM

K0106

K0383

K0388

K0390

K0391

K0392

K0393

www.kipp.com - info@kipp.com 1/3



°
=HaHIiT A XIHE by | HiEeHiI] A =
2 ST oEE R TS ST A LS
=S MdYH/XIE olo]x|
RAL 7021 RAL 5002 RAL 3020
A = 0 A = 1 A = 3
=M
&ﬁi’z‘? / 3
M i \/ ab
|\ 7 _ N SIEN @I
‘ 43
= - f &, = A2 | A2
B [ 1 A A
9
s o
L7 A1
I 3
A IS
] ek
A 43
! A
A
ES %
2T ~TWE SR M SYI ALE
ESTTH =HE 9% 58  EduolT  I%9 @ 898 sdY F@EE  =9EY
=R zZte MTEZE FH  F1 F2 F3 F4
N N N N N
K0661.005001 =3 A RAL 5002 2 86° 67° 100 650 900 550 620
K0661.006001 &M RAL 5002 3 86° 67° 160 1350 1900 720 1200
K0661.008001 &M RAL 5002 3 86° 67° 200 2000 2800 830 1400
K0661.010001 o SMH RAL 5002 3 90° 71° 250 2200 4500 1200 2800
K0661.012001 Z&M RAL 5002 4 88° 68° 280 2400 5500 1000 2800
K0661.005000 743/ M RAL 7021 2 86° 67° 100 650 900 550 620
K0661.006000 Z3|M RAL 7021 3 86° 67° 160 1350 1900 720 1200
K0661.008000 7.=1§I&‘ RAL 7021 3 86° 67° 200 2000 2800 830 1400
K0661.010000 743|M RAL 7021 3 90° 71° 250 2200 4500 1200 2800
K0661.012000 43|M RAL 7021 4 88° 68° 280 2400 5500 1000 2800
K0661.005003 A3 S Wzt RAL 3020 2 86° 67° 100 650 900 550 620
K0661.006003 A3 S w7k RAL 3020 3 86° 67° 160 1350 1900 720 1200
K0661.008003 (S 5wz RAL 3020 3 86° 67° 200 2000 2800 830 1400
K0661.010003 AlE S Wzt RAL 3020 3 90° 71° 250 2200 4500 1200 2800
K0661.012003 A3 S w7k RAL 3020 4 88° 68° 280 2400 5500 1000 2800

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

2/3



[ ]
2 SUT LY XU T IUY ATIS
== g9
FEHS THE MY M A AMA2 A3 A B B1 B2 B3 B6 C C2 D H H1 L L1
K0661.005001 =M RAL 5002 M5x25 18 2745135 - 8,1 41132 9,2 225 26,2 52 55 522 479 1257 41,8
K0661.006001 A RAL 5002 M6x35 26 3965 - 2514191175 125435369 8 55 752 71 186,6 60,5
K0661.008001 = A4 RAL 5002 M8x45 26 44 9 - 3514191 21 16 41,5 46,5 10,56,2 88,2 84,3 223,1 74,9
K0661.010001 =EM RAL 5002 M10x55 41559 9 - 2 16292 26 19 47 596 10 8,8 114,3 107,5 279,4 103,9
K0661.012001 A RAL 5002 M12x70 44 65 11 40 1 16,292 28 21 47 759 13,5 8,5 128,4 1252 314,7 122
K0661.005000 As|M RAL 7021 M5x25 18 27 4,5 13,5 8,1 41132 9,2 22,5 26,2 52 55 522 479 1257 418
K0661.006000 3| M RAL 7021 M6x35 26 3965 - 2514191175 125435369 8 55 752 71 186,6 60,5
K0661.008000 S| RAL 7021 M8x45 26 44 9 - 3514191 21 16 41,5 46,5 10,56,2 88,2 84,3 223,11 74,9
K0661.010000 A= RAL 7021 M10x55 41559 9 - 2 16,292 26 19 47 59,6 10 8,8 114,3 107,5 279,4 103,9
K0661.012000 3| M RAL 7021 M12x70 44 65 11 40 1 16,292 28 21 47 759 13,56 8,5 128,4 1252 314,7 122
K0661.005003 A3 S ¥z RAL 3020 M5x25 18 2745135 - 8,1 41132 9,2 225 26,2 52 55 52,2 47,9 1257 41,8
K0661.006003 S WZ RAL3020 M6x35 26 3965 - 2,514,191175 125435369 8 55 752 71 186,6 605
K0661.008003 A% S Wz RAL 3020 M8x45 26 44 9 - 3514191 21 16 41,5 46,5 10,5 6,2 88,2 84,3 2231 74,9
K0661.010003 s S #wZ RAL3020 M10x55 41559 9 - 2 16292 26 19 47 59,6 10 8,8 114,3 107,5 279,4 103,9
K0661.012003 (S S WZFRAL 3020 M12x70 44 65 11 40 1 16,292 28 21 47 759 13,585 128,4 1252 314,7 122
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



